5.01 Intro to Matrices Notes

Introduction to Matrices

Matrix: A rectangular array of numbers

Uses: to solve systems of equations (next week)
and to record data (think Excel)
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More examples: R

-2 | Bis known as a "column matrix".
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How about a "row matrix"? ~ How about a "square matrix"?
Create a 1x3 matrix C. Create a 4x4 matrix D.
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Operations
Addition and subtraction can only be done with matrices of the
same size (dimensions).
Scalar multiplication can be done with a matrix of any size
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Use matrices A, B, and C to solve for X.
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5.01 Practice
State the dimensions of each matrix. Find the value of each element in 4 =
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Find each of the following for Q = [ 2 -10[,R=[-5 o|s=] 56 IZ ; ,andT = [‘11 39 176].
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If the matrix does not exist, write impossible.
5.Q+R .T—R 7.T — S '___
4 -9 not p° ssi by ):
i K_/_ 4 -—‘7 1(, -6 ”+ 5
“3 - .2
? | 5 = ‘é (5
- o -23 3‘
8.2R+Q - o —_——
13 e |+| & MY N A
-ip 1% |+ | & ~d 5 Iy | = t _r,f
|24 14 - 4 2 14

Use matrices Q, R, S, and T to solve for X. If the matrix does not exist, write iripossible.

10(Q—R=§X 3

3(0-R) 35=T

-
-

., s -2 | 3 P

‘; _IJ,{ :] 21 .. 3[-[ 5| 4% -9 mj Q+3
g U |4 -[“5 ¢ 37 (-3 #
Lf/w -1% b -9 I

13. Jessica took her two é:hildrerl
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ng pool once a week for six weeks. The daily

admission fees are $4.50 for a child and $6.75 for an adult. Write a 1 x 3 matrix with a gcalar multiple that

represents the total cost of admission. What is the total cost?
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